
Name:                                                                Math Morning Work Week 20 

 Monday Mon. Workspace Tuesday Tues. Workspace 

1 Round 11,896 to the nearest 

hundred. 

 569,852 

    + 58,126 

 

2 A furniture store received an 

order for 8,367 tables.  They 

can fit 7 tables in a large 

shipping box.  How many 

shipping boxes will they need 

to ship all of the tables? 

 Find the product. 
 

52 x 78 = 

 

3 74,963 

     - 25,876 

 Find the Quotient. 

3,729 ÷ 3 = 

 

 

4 Name the fractions. 
1. 
 
 

 

 
2. 
 
 

   

 

3. 
 
 

     

 

Luis jogged 1 mile on 

Monday, 3 miles on 
Tuesday, and 5 miles on 
Wednesday. If this 
pattern continues, how 
many miles will he jog 
on Friday? 

 

 

5 The perimeter of a 

rectangle is 36 feet. If the 
length of the rectangle is 12 

feet, what is the width of 
the rectangle?   

Use the diagram. What 

kind of angle is formed 
with < fgc? 

 

6 Kate is going to purchase a table for $255, a rug for $158, and 4 chairs for $97 each.  How much money will she 

spend all together?  Show your work and explain your thinking. 



 Wednesday Wed. Workspace Thursday Thurs. Workspace 

1 List the first 5 multiples, 

and find ALL the factors 
of 12. 
 
Multiples:  
 
Factors: 

 
 

 What is the value of 7 in 

the following numbers. 
 

76 _______________ 
 

1,732  ____________ 
 

 

What is the place value 

of 3 in the following 
numbers? 
 
1,326,854 ___________ 
 
32,854 ______________ 

2 Use the fugure to help 
you determine the rule. 
 

 
 
Rule:  
 

 Estimate the product. 
 

52 x 78 = 

 

3 A group of 1,254 people 
is going on a boat tour.  
If each boat holds 8 
people.  How many boats 

will they need? 

  

54 ÷ 9 = ___________ 

 

540 ÷ 9 = __________ 

 

5,400 ÷ 9 = ________ 

 

4 5,269 x 3 = 
 Write an equivalent 

fraction to: 
 
1

4
 ____________ 

 
1

3
: ___________ 

 
 

 
1

2
: _____________ 

 
1

8
: _____________ 

5 How many times larger is 
700 than 70? 

 Kristin has 1,485 

paperclips.  If she puts 
them in 3 groups, about 

how many will be in each 
group? 

 

6 At the bicycle shop there are 23 bicycles and 18 tricycles. Each bicycle has 2 wheels, and each tricycle 
has 3 wheels.  How many wheels are there in the bicycle shop?  Show your work and explain your 
thinking. 
  

 


